
V BP 20
E 845377.874
N 150286.596

V BP 21
E 847004.842
N 150981.580

V BP 22
E 848069.635
N 153219.994

Curva BP 19
R 2500.000
Sv 992.914
Ac 25.284338
Tan 503.087
Fr 50.117

Curva BP 20
R 2500.000
Sv 1597.703
Ac 40.685175
Tan 827.199
Fr 133.298

Curva BP 21
R 2700.000
Sv 238.210
Ac 5.616644
Tan 119.182
Fr

Clotoide BP 37
A 724.569
Rcl 210.000
AngF -2.673803
m 0.735
Tl 140.013
Tc 70.012
Xf 209.963
Yf 2.940
Ri 0.000
Rf 2500.000

Clotoide BP 38
A 724.569
Rcl 210.000
AngF 2.673803
m 0.735
Tl 140.013
Tc 70.012
Xf 209.963
Yf 2.940
Ri 2500.000
Rf 0.000

Clotoide BP 39
A 724.569
Rcl 210.000
AngF 2.673803
m 0.735
Tl 140.013
Tc 70.012
Xf 209.963
Yf 2.940
Ri 0.000
Rf 2500.000

Clotoide BP 40
A 724.569
Rcl 210.000
AngF -2.673803
m 0.735
Tl 140.013
Tc 70.012
Xf 209.963
Yf 2.940
Ri 2500.000
Rf 0.000

Clotoide BP 41
A 636.396
Rcl 150.000
AngF -1.768388
m 0.347
Tl 100.004
Tc 50.004
Xf 149.988
Yf 1.389
Ri 0.000
Rf 2700.000
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 =

 33+
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QP =
 58.734

i = 
0.005 L = 
2612

.525

i = 0
.000 L = 3

22.71
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F = -
0.072

T = 5
6.280

RV = 
22000

.000

Inizio raccordo

Km
 =

 33+
199.733 QP =

 58.430

Fine raccordo

Km
 =
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312.293 QP =

 58.751
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 =

 33+
578.728

QP =
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Inizio raccordo
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 =

 33+
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Fine raccordo
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F = 0.1
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2000.00

0

Inizio raccordo

Fine raccordo

K
m
 =

 35+
710.817

Q
P =

 53.752

i = -0.004

L = 922.282
i = -0.002

L = 790.432

F = 0.010 T = 22.872 RV = 25000.000

Inizio raccordo

K
m
 =

 35+
687.945 Q

P =
 53.838

Fine raccordo

K
m
 =

 35+
733.688 Q

P =
 53.706

Km
 =

 36+
501.249

QP =
 52.194

i = -0.002

L = 790.432

i = 0.000

L = 1709.328

F = 0.011 T = 21.338 RV = 20000.000

Inizio raccordo

Km
 =

 36+
479.910 QP =

 52.236

Fine raccordo

Km
 =

 36+
522.587 QP =

 52.198

Inizio raccordo

Km
 =

 34+
145.997 QP =

 61.921

Fine raccordo

Km
 =

 34+
494.988 QP =

 60.779

Km
 =

 34+
698.344 QP =

 58.338

K
m
 =

 34+
878.731 Q

P =
 56.913

V BD 20
E 845374.675
N 150289.793

V BD 21
E 847001.729
N 150984.814

V BD 22
E 848065.972
N 153222.071

Curva BD 19
R 2504.200
Sv 975.402
Ac 24.796737
Tan 493.962
Fr 48.253

Curva BD 20
R 2495.800
Sv 1594.574
Ac 40.673831
Tan 825.563
Fr 132.997

Curva BD 21
R 2704.200
Sv 238.700
Ac 5.619443
Tan 119.427
Fr 2.636

Clotoide BD 37
A 790.314
Rcl 249.419
AngF -3.170379
m 1.035
Tl 166.301
Tc 83.159
Xf 249.357
Yf 4.140
Ri 0.000
Rf 2504.200

Clotoide BD 38
A 724.567
Rcl 209.647
AngF 2.664831
m 0.731
Tl 139.777
Tc 69.894
Xf 209.610
Yf 2.925
Ri 2504.200
Rf 0.000

Clotoide BD 39
A 724.567
Rcl 210.353
AngF 2.682799
m 0.739
Tl 140.248
Tc 70.129
Xf 210.315
Yf 2.954
Ri 0.000
Rf 2495.800

Clotoide BD 40
A 723.669
Rcl 209.831
AngF -2.676154
m 0.735
Tl 139.901
Tc 69.956
Xf 209.794
Yf 2.940
Ri 2495.800
Rf 0.000

Clotoide BD 41
A 637.134
Rcl 150.114
AngF -1.766989
m 0.347
Tl 100.080
Tc 50.042
Xf 150.103
Yf 1.389
Ri 0.000
Rf 2704.200

K
m
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 32+
496.667

K
m
 =

 32+
746.087

Km
 =

 33+
721.488

Km
 =
 33+

931.135

Km
 =

 34+
141.488

K
m
 =

 35+
736.062

Km
 =

 35+
945.893

Km
 =

 37+
104.544

Km
 =

 37+
254.659

V BP 22
E 848069.635
N 153219.994

V BP 23
E 848693.056
N 154155.549

V BP 24
E 848934.127
N 154496.114

V BP 25
E 849352.815
N 155123.885

V BP 26
E 850319.554
N 156886.269

Curva BP 21
R 2700.000
Sv 238.210
Ac 5.616644
Tan 119.182
Fr 2.629

Curva BP 22
R 7500.000
Sv 161.390
Ac 1.369919
Tan 80.698
Fr 0.434

Curva BP 23
R 7500.000
Sv 158.378
Ac 1.344353
Tan 79.192
Fr 0.418

Curva BP 24
R 3200.000
Sv 181.714
Ac 3.615078
Tan 90.881
Fr 1.290

Curva BP 25
R 1074.000
Sv 602.450
Ac 35.710592
Tan 309.380
Fr 43.673

Clotoide BP 41
A 636.396
Rcl 150.000
AngF -1.768388
m 0.347
Tl 100.004
Tc 50.004
Xf 149.988
Yf 1.389
Ri 0.000
Rf 2700.000

Clotoide BP 42
A 636.396
Rcl 150.000
AngF 1.768388
m 0.347
Tl 100.004
Tc 50.004
Xf 149.988
Yf 1.389
Ri 2700.000
Rf 0.000

Clotoide BP 43
A 612.372
Rcl 50.000
AngF -0.212207
m 0.014
Tl 33.333
Tc 16.667
Xf 50.000
Yf 0.056
Ri 0.000
Rf 7500.000

Clotoide BP 44
A 612.372
Rcl 50.000
AngF 0.212207
m 0.014
Tl 33.333
Tc 16.667
Xf 50.000
Yf 0.056
Ri 7500.000
Rf 0.000

Clotoide BP 45
A 612.372
Rcl 50.000
AngF 0.212207
m 0.014
Tl 33.333
Tc 16.667
Xf 50.000
Yf 0.056
Ri 0.000
Rf 7500.000

Clotoide BP 46
A 612.372
Rcl 50.000
AngF -0.212207
m 0.014
Tl 33.333
Tc 16.667
Xf 50.000
Yf 0.056
Ri 7500.000
Rf 0.000

Clotoide BP 47
A 551.362
Rcl 95.000
AngF 0.944982
m 0.118
Tl 63.334
Tc 31.667
Xf 94.998
Yf 0.470
Ri 0.000
Rf 3200.000

Clotoide BP 48
A 551.362
Rcl 95.000
AngF -0.944982
m 0.118
Tl 63.334
Tc 31.667
Xf 94.998
Yf 0.470
Ri 3200.000
Rf 0.000

Clotoide BP 49
A 370.772
Rcl 128.000
AngF -3.793637
m 0.636
Tl 85.349
Tc 42.681
Xf 127.955
Yf 2.542
Ri 0.000
Rf 1074.000
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K
m
 =

 38+
210.577

Q
P =

 52.474

i = 0.000

L = 1709.328 i = 0.002

L = 454.753

F = 0.010 T = 22.327 RV = 25000.000

Inizio raccordo

K
m
 =

 38+
188.250 Q

P =
 52.471

Fine raccordo

K
m
 =

 38+
232.903 Q

P =
 52.518

K
m
 =

 38+
665.330

Q
P =

 53.361

i = 0.002
L = 454.753

i = 0.001

L = 532.171

F = -0.008 T = 32.631 RV = 70000.000

Inizio raccordo

K
m
 =

 38+
632.699 Q

P =
 53.298

Fine raccordo

K
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 =
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P =
 53.394

K
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 =
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197.501

Q
P =

 53.903

i = 0.001

L = 532.171 i = 0.000

L = 519.082

F = -0.003 T = 15.815 RV = 50000.000

Inizio raccordo

K
m
 =
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181.686 Q

P =
 53.887

Fine raccordo
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 =
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213.316 Q

P =
 53.909

K
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 =
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716.583

Q
P =

 54.103

i = 0.000

L = 519.082
i = -0.003

L = 451.892

F = -0.042 T = 45.975 RV = 25000.000

Inizio raccordo

K
m
 =

 39+
670.608 Q

P =
 54.085

Fine raccordo

K
m
 =

 39+
762.558 Q

P =
 53.951

K
m
 =

 40+
168.475

Q
P =

 52.615

i = -0.003

L = 451.892
i = -0.004

L = 713.728

F = -0.006 T = 47.201 RV = 200000.000

Inizio raccordo

K
m
 =

 40+
121.274 Q

P =
 52.770

Fine raccordo

K
m
 =

 40+
215.676 Q

P =
 52.437

K
m
 =

 40+
882.203

Q
P =

 49.928

i = -0.004

L = 713.728
i = -0.003

L = 687.283

F = 0.001 T = 15.727 RV = 100000.000

Inizio raccordo

K
m
 =

 40+
866.476 Q

P =
 49.987

Fine raccordo

K
m
 =

 40+
897.930 Q

P =
 49.873

K
m
 =

 41+
569.486

Q
P =

 47.556

i = -0.003
L = 687.283

i = -0.004
L = 856.377

F = -0.003
T = 22.538

RV = 100000.000

Inizio raccordo
K
m
 =

 41+
546.949 Q

P =
 47.634

Fine raccordo
K
m
 =

 41+
592.023 Q

P =
 47.468

V BD 22
E 848065.972
N 153222.071

V BD 23
E 848689.594
N 154157.927

K
m
 =

 38+
578.987

K
m
 =

 38+
629.012

V BD 24
E 848930.665
N 154498.493

V BD 25
E 849350.505
N 155127.991

K
m
 =

 39+
762.902

V BD 26
E 850316.728
N 156889.433

Curva BD 21
R 2704.200
Sv 238.700
Ac 5.619443
Tan 119.427
Fr 2.636

Curva BD 22
R 7504.200
Sv 161.483
Ac 1.369947
Tan 80.745
Fr 0.434

Curva BD 23
R 7495.800
Sv 158.260
Ac 1.344107
Tan 79.133
Fr 0.418 Curva BD 24

R 3200.000
Sv 181.714
Ac 3.615078
Tan 90.881
Fr 1.290

Curva BD 25
R 1078.000
Sv 604.939
Ac 35.725034
Tan 310.665
Fr 43.872

Clotoide BD 41
A 637.134
Rcl 150.114
AngF -1.766989
m 0.347
Tl 100.080
Tc 50.042
Xf 150.103
Yf 1.389
Ri 0.000
Rf 2704.200

Clotoide BD 42
A 637.134
Rcl 150.114
AngF 1.766989
m 0.347
Tl 100.080
Tc 50.042
Xf 150.103
Yf 1.389
Ri 2704.200
Rf 0.000

Clotoide BD 43
A 612.695
Rcl 50.025
AngF -0.212193
m 0.014
Tl 33.350
Tc 16.675
Xf 50.025
Yf 0.056
Ri 0.000
Rf 7504.200

Clotoide BD 44
A 612.695
Rcl 50.025
AngF 0.212193
m 0.014
Tl 33.350
Tc 16.675
Xf 50.025
Yf 0.056
Ri 7504.200
Rf 0.000

Clotoide BD 45
A 612.305
Rcl 50.017
AngF 0.212397
m 0.014
Tl 33.345
Tc 16.672
Xf 50.017
Yf 0.056
Ri 0.000
Rf 7495.800

Clotoide BD 46
A 612.109
Rcl 49.985
AngF -0.212262
m 0.014
Tl 33.323
Tc 16.662
Xf 49.985
Yf 0.056
Ri 7495.800
Rf 0.000

Clotoide BD 47
A 551.362
Rcl 95.000
AngF 0.944982
m 0.118
Tl 63.334
Tc 31.667
Xf 94.998
Yf 0.470
Ri 0.000
Rf 3200.000

Clotoide BD 48
A 551.362
Rcl 95.000
AngF -0.944982
m 0.118
Tl 63.334
Tc 31.667
Xf 94.998
Yf 0.470
Ri 3200.000
Rf 0.000

Clotoide BD 49
A 371.799
Rcl 128.232
AngF -3.786416
m 0.636
Tl 85.504
Tc 42.758
Xf 128.187
Yf 2.542
Ri 0.000
Rf 1078.000
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